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da (1) In which year Punjab National Bank was established ? | 1

(T 578 AGR @oe (@3 dfod a1 gz

() What do you mean by ‘Group Banking’ ? 1
‘oo QR e o gty

(c) Write the full form of SIDBI. o1
SIDBI T =54 S{tG1 {1 |

(d) Since which year the RBI has been issuing notes based on Minimum
Reserve System ? 1
(FH 5 *i[l SRS oS @UE Paod [{ons AafS SepiE a9t obew 57
wifdrm? | '

(¢) NSE was set up in the year 1992/1993/1994/1995. 1

NSE 1992/1993/1994/1995 5% 3+ I (2% |

( Commercial Banks are the main lenders in money market.

(State wlzether True or Fnlse) | 1 =

@i IS A @\wibziann Yeiret” |
(9% (7 5% &)

(g) A "Not-Negotiable’ crossing cheque can/cannot be transferred.

‘TEBIGACALN (@GN (5T G TIEI IRI AR/ @R
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() Give an example of Material Alteration. 1

T R AFPERE <6 Srrel fra

2. What is Public Sector Bank ? , : 2

5Tl 9T [T WE F2 o

3.  Mention two prohibitory functions of RBI. 2

WW@&WWWWW@@%Wt

4.  State any two functions of Stock Exchange. 2

- B [ e e qor T S T |

5. Who can cross a cheque? g 2

BT O @I @ARET R AR e

6. -~ State the meaning .of ‘Bank Draft’. : 2
‘R g’ o |

7. . What is ’payrr;ent in due course’ ? | | ' B
7S ARy e 2

8. State any three differences between Promissdry Note and Cheque.

A2 =fa Wi (5 WS AP I R AL Tead =1
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9 - Weits a nateé on Seheduled Banld, | 3

‘oiferriee (T I 9o G

10. What are the various sub-markets of money market ? g " B
Yui Iaee [Aifen Seiar Az & &
11. What are the main functions of World Bank ? 3

™ @ gy iz & &2
Or/ 72dt
Describe briefly about Statutory Liquidity Ratio. 3

Rffore wee Sigeiies ey o5 iy 0|

12. What are the main achievements of nationalisation of banks in India.

| 5
SIRORES (A5 TR Y FweTe! g B e
Or/ 72t
Write a brief note on State Bank of India. e | : 7 -8

w@a@ma&ﬁmaﬁwmﬁw

13. What are the different functions performed by RBI as a Banker of

Government ? 3

SR 5T oIt ors e @ SHER B R
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14.  Show the differences between capital market and money market.

_ 5
EIE] TR SIS Y@ IS Al R W[
Or/ 724t
Mention five advantages of Mutual Funds. 5
SoSa sffew i ARt et 2
15. Discuss the advantages of Internet Banking. A _ 5
TOIRCAs (AHR I R 3R SN T4 |
16. Explain the position of collecting banker as holder for value. = 5
T T SRR Bpiea e @ S g s
17. Distinguish between Endorsement in Blank and Special Endorsement.
TR I i ReE =ikt Tiers 45t sy
. Or/ 7%
Write a note on Non-Banking Financial Institutions. 5
ol T8 S Raw v Gt &
18. Discuss the objectives and functions of LICI. . | g

LICI S Sy o= <Fidiaet] Sieeiioat 9 |
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Or/ 123
Discuss various sources of bank’s own fund. - - 5

@] oy Hifem [Rfen Sorm SiEsa 41

19. Discuss the General utility services rendered by commercial banks.

fAfETE @R AR TR IS R AR WG 3 |
Or/ 7123
Write the distinction between RBI and Commercial Bank. , 8‘1

ool Rulé @3 e Afdfers @@ Ters 4t #A19e g i |

20. Discuss the circumstances under which the paying banker can refuse';

payment of customer’s cheque. 8

m«%ﬁﬁ%maﬁ%@\wmwﬁﬁmqwmﬁ
A, ST F1

21. Discuss the principles followed by banks in granting loans and advances.
5 ’ it " 8

e Wi SR frae RS [T SRR 91 MR Sl F
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22.  What are the different types of Financial market ? Write a brief note on
Foreign Exchange Market. - 3+5=8

F€ Toer Rfon dorER & &2 e [RiSTm Ioew eo"s | b 59 G
IGRIN ' '

Or/ 7123t

What is Development Bank ? Explain the functions of Development Banks.
2+6=8

THI ([T W B2 ST (331 Fiie] g 9 |
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1 (1) Who is known as the father of scientific management ? |
el SRR forg IS T o w2
(b)  In which year Indian economy was opened up ? 1
@R To SRR WIS Bw 3= t2feE ¢
(c) Budget is a quantitative expressién. (Write True or False) 1
AT GF MRYTT S | (% g [730)
(d) Name the organisation which regulates the working of banks in
India. 1
TIIES @ MZI FIA-FG @ 39 FRIGNGR W & |
(e) Name ore method of on the job training. ‘ 1
oo AT omfe gbR AN S 3|
() Give the full form of SEBIL d
. SEBI-R 9 F#itot &l | |
-(g) Name one feature of a good control system. = ° 1
g IR 95 @R S ]|
()  Name one external source of recruitment. - 1
T by ARz BT Brad I |
2.  What is ratio analysis ? | | 2

St [Reemd i & 2

State fwo objectives of NSE. ' | | 2

NSER 75! Sransly Grgad 3t |
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4.  Write two differences between advertising and personal selling. 2

R o FResrs Rl TS 2 7or nefay foar

5. Give two differences between capital market and money market. g

TR IS SF @ I NSt A 757 2A1y @l |

6. Explain two rights given to consumers under the Consumer Protection
Act, 1986. ' 2

AT I S Soru 3 wrafs s 701 SRR G 4 |

7.  Explain the concept of Taylor; s Differential Piece Rate system. 3

(GoTRT “Arenigd A9 I’ LIEeol I 90 |

8. (a) Define Organisation as a group activity. . 3 .
b1 FoTm TN 21 Islond kel |
Or/ a2
(b) ‘Dis-cuss the typés of Organiséltion structure. 3

FRADTT 157 AP TR WA < |

9. () Discuss the objectives of financial planning. ‘ 3
€ sAfRTwR Sy FI SCED B |
Or/ "<t

(b) Define current assets. Give fwo examples of current assets. '
5 - ‘ 2+Y2+15=3
5ot Aooma sigsal fwal | vfeTs oA 7oy Swized |
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10. (a1) Who can file a complaint before a consumer court ? : -3

mmwﬁmﬁmmﬁamm?
Or/ 937

(b) Briefly discuss three important features of entrepreneurship. 3

ol ooy (iR Race 550 wicEnal =1 ]

11. (a) Explain any three factors affecting pricing of a product. 3
I GOl BAH B T FwfSe) o501 oM g = |

Or/ <t

(b) Write any three merits of Internal recruitment. 3

SrEJGRI NFER forlaby JRd wife «= |

12. Define management and discuss its objectives. 2+3=b

AR e A S TR SR T SIS w1

13. Explain the impact of Economic Reforms on Business and Industry. 5

T SIS SIS 8oFS ST FAHRI Joi T 31 |

14. (a) Discuss the-Elements of Delegation.. ,‘ 5]
TEG TN SAMIFATZ SN |
Or /. Jdt

(b) Distinguish between delegation and decentralisation of authority.
| 5

'Ww#qmﬁm@aﬁ%mmmwmﬁm
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5. Discuss the features of liberalisation. - 5

ISP (AR SCHATBAT 351 |
6. Analyse the steps involved in the staffing process of an organisation.
GBI oo T Y AR T e omew Az Regad 71

17. (1)) What do you mean by responsibility centres ? Discuss any three types

of responsibility centres. 243

ﬁfﬁwmqﬁm%q@?ﬁmﬁr%ﬁmm FEs REwa e
=i | | |

Or/ g«

(b) Discuss the traditional techniques of management control. 5

ﬂﬁﬂﬂﬁ“ﬂﬁmﬁmﬂ@ M YT SIS 4 |

18. (a) Explain the main elements of marketing mix. . 5
Rty firer 2t SoAmI AR 01 4|
Or/ "<t '. |

()  Discuss the factors influencing -pric-ing. - B

R RAfre geor RS TAMRER SICEm 31 |
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19. (a)
()
20. ()
)
21. (a)
o)

29T BUST

Discuss the contributions of Taylor and Fayol in the context of
management. _ 8

AIRBIETIT &S (e S (FHTI S ST 4 |
| Or/ 943 |
Discuss the significance of the principles of management. 8
AR S 2 &g STl 21 |
Define co-ordination. Discuss the importance of co-ordination.
2+6=8
AATAT T A | AT TG Y2 A G |
Or/&dr |

“Management is considered to be. both an Art and Science”.
— Explain. . ' 8

“slfIoeIE O I IIF [ Zoicel [Jgear 311 =871 — iy e &1

Why planning is considered to be a primary function of

management ? Explain the concepts of policy and rule.
2+3+3=8

ST [ ~AReEwR marfﬁasmq%wwm » TS s T sl
Eﬁﬂﬂﬂﬂﬁﬁﬂ

Or/ "4q]

What is meant by planning ? Discuss the steps involved in the

plamung process. 3+5=8

stfRest S 6 e mﬁaramaaﬂ“wﬂmﬁmww

[6]



22. (n)
(b)

29T BUST

Define financial management. What are the objectives of financial
management ? 2+6=8

RS ~{RbEIT kel | RS ~HROERR Brw S o ¢
Or/ Tt

What is capital structure ? Mention few factors that influence capital
structure. ' ' 2+6=8

TR i s o 3@ ? ST SR ORI 31 BoAMIA TR (TR
B 391 | '
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. 3 lx =
1. Answer the following questions as directed : 8=8

OT SPTPEOIN e e Ted R
(a) Is the set A={x|x(1, x)1} a null set?

A ={XIX(:1, x)1} @2 W Re M A 2

(b) Find the co-factor of -1 in the following determinant.

ooig fdffaee ~13 s [Qdfm <=t |

5 2
-4 2 -1

(c) What is the difference between simple interest and compound
interest ?

I S T bagim e Aty e

(d) Write True or False :
&% (7 TSF A 3

‘Every null matrix is a square matrix’

SRR *F GNERee «1 7 T

(¢) Fill in the gap :
et D12 27 ¥ ¢

AM.xH.M. =

INGT N *x TS e = -

29T CMST T 12]




(/) What is the arithmetic mean of first n natural numbers ?

AT B TSR A TG TG R 2

(99 What is the minimum value that the probability of an event

can take ?

aﬁrﬂ%ﬁa%ﬁ@ﬁmw%ﬁﬂm?

(h) Fill in the gap :
ATl 32 o7 1 ¢

Standard deviation is élways
i fJve s ———— =
2. Answer the following questions in brief : ' - 2x5=10
ST Oo1d LRI Teq fral ¢
(a) What is the difference between ¢ and {¢} ?

¢ IE (¢} T e '?_nQﬁﬂﬁS?

(b) For what value of x the matrix A -—j[ zJ will be singulér ?

x T W IR A—_—[_Z ﬂ 9o &SN (TeE 792

09T CMST | [3] Contd.



(c) What is perpetual annuity ?

Bz IR /e - |

(@ If "p,=30."p,, find n.

I "p, = 30."Pp, T (O(F n I T [ 7 | -

() If y=a+bx, show that T=a+bx, a and b are constants.

RIE y=t-1+bx, (o8 (M8 @ y=a+bx, aAF b &P

3. Find the simple interest on Rs. 6000 from 4th March, 2017 to 28th
July, 2017 @ 5% p.a. R |

6000 T2 4 WG 2017 I 23] 28 TR 2017 TSR 5% T 777 7S #6f7 |
o= TR : | ' |

4. If "p, :-,1+1p4=5-:9, find n. - | | 3"

@ P, :™P =5:9 W (ST n fd <=

Or / 73t
| |
If "P.=132 and "C, =66, find n and r 3
z
ﬂﬁ"3=132W”C,=66@m@nWrﬁﬂ§IWI

29T CMST ; (4]
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S.  Without expanding show that 3
fgfs Tmite e @

0 & b} .
-C 0 al=0
-b -a 0
Or / 7123
If . . _ 3
s ;

[3 5][ 2 -5}_[1 0]
1 gll-1 ‘=) LO 1]
what is the value of x and y‘p

xwyﬁmﬁs?

6. Find the Mean Deviation from median from the given marks of 7
students. : 3

7 O QIR Tl R o SR ot ofe Rve [Refm 3|
18, 26, 15, 20, 17, 12, 25

7. Write any two algebraic properties of Arithmetic Mean. - 3

I MG iz 7or emidor «f foran

Oor / 733

Calculate the Harmonic Mean of 4, 8, and 12. 3

4, 8, % 129 IS Ty W =

9T CMST [S] ' . Contd.



' + becomes 90% of itg
8. The value of a machine at the end of a y€2 ne was bought at Rg,

value at the beginning of that year. This S0 1d at Rs. 1800. Hoy
4800 and after using it for some years it was so :
many years was the machine in use?

B (R o TR (RS S free IR OIRE T 90% )

BT 4800 Tarie R Reg 7w R o1z 1800 e R 1 fra 2
CI>CH! I q%T 9T F e

9. A committee of 6 is to.be formed out of 7 g‘entlen.len and 4 vladif:s.
In how many ways can the committee be formed, if at least 2 ladies

are to be included ? 9

7 & S W 4 TR SRR S 6 T TR @Bl 19 SR A |
FTS IS 2 ﬁrﬁ‘?{ﬂﬁ?ﬂ\m\mw R A, (ST FABL A &=t 1
WWW?

10. Mr. Roy borrows Rs. 20,000 at 4% compbund interest and agrees
to pay both principal and interest in 10 equal annual instalments
at the end of each year. Find the amount of each instalment.

Given (1.04)%=0-6761 , . 5

fl. s 99 4% bgfa o9 9 20,000 B 4K | (o b 1051 7.
WWWWWWTWWWWIWFG ﬁﬁﬁﬁ*ﬁ?
I (TS, AR TS, Wﬁﬁﬁf@@ﬁﬁmqﬁq‘awn

o = (1 04)"10_0 6761

11. Show that there will be no term containing 9

1\ | ‘
oryedt A (2x2‘;) T Rgfoe 4o A R 1% 2y

29T CMST L 18]
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in the expansion of

2—1'20' : o _ ‘
(2] - ]
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Or / #2a

If the coefficients of x? and x® in the expansion of (3+kx)’ are

equal, find the value of k. - 5
M (3+kx)® T RS 42 OIF 1 T D G W (9, kT T Fefa 4|

12: Prove by mathematical induction that the sum of first n odd
| ‘natural numbers is n. . - | | .5
ififess o wearEl SITIT‘T@ & a@ n B oo FIIRR AR I 2.
Or/ a1z
Using mathematical induction pro{fe that | | 5
oS vt oy TR TR o 79 @

2 _ nn+1)2n+1)

12 % g B

6
for all ne N _
N TS WY 9 AR |
13. Draw the graph of : (any one) : | .5

@2 e 1 3 (Rewar «bt)
) x-2y<3,3x+4y>12, x20,y=1
(ii) 5x+4y$20, x21, yz2

29T CMST o [7] - Contd.



g at arithmetic
14. Calculate the missing frequency, you are given th . :

mean is 50-9.

o AERIFOo! [Hefa w1, frn @ieg @ e Wy 50 9.

i 0-20 20-40 40-60 60-80 80-100

BES _ ‘

Frequency : 5 ' 50 {9 g
SISO -

Or/-'ﬁ??f

If f(x)=x*-5x+6, find f(A).

WM fx)=x*-5x+6 T, (oB f£(A) Ffa =
2 01
A=|2 1 3
1 -10

15. (a) Prove that ' | 4
e == (@ -
& Pr = n-lpr + r 4 n_lPr_l
(b) _Solve : | ; ‘ | 4
IR ] 3 |
@ a x

m m mi=0
b x b

29T CMST (8]



or /arzat

If Az{an}J B=_{2, 3} and C=‘-{l=,2}, show that 4

M A={a, b}, B={2,3} Wz C={1,2} &, (eal @@

Ax(BUC)=(AxB)U(AxC)

16. (a) Calculate Standard Deviation from the following data :

4
woTe Wil SUF WS fanem e a1
Class ' '
T : 10-19 20-29 30-39 40-49.50-59 60-69 70-79
Frequency ’
: B 3 61 220 137 53 19 4
RISKSIES) . A

- (b) Calculate coefficient of variation from the data given in

Question 16. (a): T 4

16. (a) &< YR o[l {634 @i [Hefa i1

7. (a) Two dice are thrown simultaneously. Find the probability of

getting even number on both the dice. 4

AY

751 Euef el Weedl 2o | sl auefbe 3 K (AR el

ERICE:

_ A Contd.
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(b) A bag contains 4 red, 3 blue and 3 white balls. 2 balls are
drawn at random from it. Find the probability of getting

(i) 2 red and 1 blue ball

(i) 2 balls of the same colour. - 4
<Gl (IS 451 3¢, 35! el <% 3T 60 I Wiz | A i@ 25 @
B ==, Oee Al {99 IRR sl R w4

() 2% I8 =% 15 Sl

(i) O IR I 200
Or / 7I&q

Define and give.oné example of each : | 2+2=4
w7l e 2AfehiR by Trizae frar ¢
(i) Mutually exclusive events
AT ARgS ol
(ii) Positive correlation

G AT

18. (a) Find out Karl Pearson’s coefficient of correlation. . 6

Frel fPcaseas W@mﬁ Refm =1 |

X .

2 2 4 5 -5
y: 6 3 2 6 4

29T CMST ' [10]



(b) Karl Pearson’s coefficient of correlation between two variables

x and y is 0:-28 and their covariance is 7-6. If the variance

of x is 9, find the standard deviation of y. 2

e (A6 STITTT G TB! 5T x WNF y I WS (A= 51 028 S
Pieoq s2RkeEW 7.6 | I x I 2919 9 =W, (OB yI Aiwd [oew i 2

29T CMST C[11]



